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ZHEHH(if ZEAR)

if (£141):
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a=int(input(‘a="))

if a>=5:
print(‘good!’)
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ZEK2(if --- else ~)

if (R41):
[=1]
else:
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a=int(input(‘a="))
if a>=5:
print(‘Good?!’)
else:
print("Try Again!’)
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a=5 (— 51 Z%AN)
Good! (—Tif 1D B EZELT)
a=3 (— 31Z%AN)

Try Again! («Telse |DF%#ET)



If x>=Db: o——
print(‘good!’) .
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else:_ | —0
print("Try Again!’) .

|

If X<5:
print(‘Try Again!’)
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5= x<10
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if x>=10:
print("Excellent!’) *—
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elif x>=5:

print(‘Good!’) :_rlo
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else:
print("Try Again!’)




&3 (if -+

if (G&1F1):
[21]

elif (5£42):
[R2]

else:
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elif -+ else ~)

1)
a=int(input(‘a="))
if a>=10:
print(‘Excellent!’)
elif a>=5:
print(‘Good!’)
else:
print(‘Try Again!’)
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Good!

a=3

Try Again!
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